1 вариант

№1. Найдите значение выражения: 
№2. Найдите значение выражения: [image: image1.png]



№3. Найдите значение выражения: [image: image2.png]— 19tg 1017 -tg 191°



.
№4. Найдите [image: image3.png]24cos2a



, если [image: image4.png]sinat = —0.




. 
№5. Найдите [image: image5.png]s
8sin(5 — 0



, если [image: image6.png]sinot = —




и [image: image7.png]oe (1,5m2n)



.
№6. Найдите значение выражения [image: image8.png]3:05(1{+B)+25in(37"+§)



, если [image: image9.png]


.
№7. Найдите значение выражения [image: image10.png]


.
2 вариант 

№1. Найдите значение выражения: [image: image11.png]22(sin”72° — cos?72°)

cos 144°




№2. Найдите значение выражения: [image: image12.png]14sin30° - cos 120°



.
№3. Найдите значение выражения [image: image13.png]6
c08223° + cos2113°



.
№4. Найдите [image: image14.png]3sinbo

5cos3a



, если [image: image15.png]sin3a = —0,5



.
№5. Найдите [image: image16.png]tg(at3)



, если [image: image17.png]


.
№6. Найдите значение выражения [image: image18.png]3
Ssin(o—7m) — 1eos(S + )



, если [image: image19.png]sina = —0,25



.
№7. Найдите [image: image20.png]25¢cos200



, если [image: image21.png]cosa = _

ol —



.
